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2= o 5 Ak 868 164 1,031 1,031 13 1,044 1,757 214 425 2,396 6,451 8,847 160 9,007 10,051
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1,518 192 1,710 1,710 83 1,793 3,874 445 1,205 5,524 12,002 17,526 683 18,209 20,002
M ® 1] 0.25 0.25 9.32 0.60 1.09 11.01 630.41 641.42 250.35 891.77 892.02
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fiz1] 9,034.52 1,078.75 10,113.27 34.43 10,147.70 498.91 10,646.61 18,607.23 2,106.27 5,739.97 26,453.47 53,534.09 79,987.56 4,281.17 84,268.73 94,915.34
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= A = B 562 25 588 0 588 70 658 1,270 148 528 1,946 4,144 6,090 521 6,611 7,269
1,518 192 1,710 0 1,710 83 1,793 3,874 445 1,205 5,524 12,002 17,526 683 18,209 20,002
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